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NESM3
GFDL-CM4
BCC-CSM2-MR
CAMS-CSM1-0
GFDL-ESM4
CanESM5
IPSL-CM6A-LR
CESM2
MPI-ESM1-2-HR
CNRM-CM6-1
CNRM-ESM2-1
EC-Earth3

EC-Earth3-Veg

—— BCC-CSM2-MR, R?=0.98

CAMS-CSM1-0, R2=0.97
CESM2, R2=0.91

—— CNRM-CM6-1, R2=0.94
—— CNRM-ESM2-1, R2=0.93

CanESM5, R2=0.91
EC-Earth3, R2=0.91

—— EC-Earth3-Veg, R2=0.92
—— GFDL-CM4, R2=0.97

GFDL-ESM4, R?=0.94
IPSL-CM6A-LR, R2=0.91
MPI-ESM1-2-HR, R2=0.91

—— NESM3, R?=0.94

—— BCC-CSM2-MR, R2=0.06
CAMS-CSM1-0, R2=0.08
CESM2, R?2=0.23

—— CNRM-CM6-1, R?2=0.15

—— CNRM-ESM2-1, R?=0.18

- CanESM5, R2=0.19
EC-Earth3, RR2=0.23
- —— EC-Earth3-Veg, R?=0.21

—— GFDL-CM4, R?=0.04
GFDL-ESM4, R2=0.16
IPSL-CM6A-LR, R2=0.21
MPI-ESM1-2-HR, R?=0.17

—— NESM3, R2=0.06
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